[Marh 334: SPrING 2012: Quiz 11 AND 12

Please put your work on this page. Box your answers. Thanks and enjoy. You are allowed use of the
Laplace transform sheet and your notes today.

Problem 1 [10pts] Solve y” -+ 6y’ + 10y = 6(t — 3) where 3/(0) = 1 and y(0) = 0.
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Problem 2 [10pts] Solve v + 9y = f(¢) where y(0) =1, ¥/(0) = 1 and [(¢) {t b<t<l

0 t>1

£ = % (u(fc)~u(:t—1)} = ful) — Fultl)

2 Thuw o= L{tF e

0
3

S
el < Fiterdne = (30 H)e°
Taws A hoploe bowshra of 9% 499 = £

N Y"" qY-S—l = 4 "(‘L""é")ébs

( s
ea)T = seie k- (&ed)e
~ 8
| ! (_l_ _L)
s+l L I + e
Y)Y = 3iq T s¥sha sZ+q \ §* S
— _—
R+ R =
l AL B, CStD = - = £
E = Simg - < e R q(s*+ 1 2

V= AS(s*+4) +a(s%+a) + (CS‘*'D)Sz
{ = s (R4 )+ s2(8+D)+ s (W) +98
\gwx, 4. B8=Ya AKR=0 ,

B3+0 = O,
Ham e P ="Yq , =0, C=0

F S +‘i)( §f) = ([ps+ 6)(5!*1 (cs+D)s’

sira N§r S
11s = (P\s+e)(s +9)+ S*(Cs+ D)
= 33(p\+c]+s7-(e +0) + S@A )+ %8 — 8+0=o

\ » S psc =0
= /Q, 8= "4 {'D'; /’\{ c=~Va

(
3
=
g




PRoﬁLém’& sl aknued
W! una/ @ﬂff)’ [ er—e pMM A’Ar/flan,

S+l ~Ya [ ! ( S+) -
= 2 SRR I (P RO S
-Y(.s) SZ._'__q qg?. q (S s,_ SZ-}-CI ) e_

= — g 3 1 (_s \3%  _L_{(}gS

staq ”ﬁ'(s’*m) *3 (s‘ﬂ MRS s sz)e

Cos 3k + —S—Sin3k +-5;- coe 30E~1) +_£s/n3(i 1)~ 1 = (£- l) j |
; 7

cos (34~ 3) + Lein bt -2) - i)u(:b—:)

L

= (es 3%t t LIPS T -—-(
27



